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Find equilibrium price and quantity :

@ D: @+ 10) (P + 20) = 300,
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Demand function x = 50 + P — P? and price Rs.

per unit. Find elasticity of demand.

x2

200’

Demand function of a commodity P = 13.5-

find maximum revenue.

OR
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1 Explain : 20
(1) Total Cost and Marginal Cost function.
(2) Demand Curve, supply curve.
(3) Elasticity of demand.
(4) Market equilibrium.

2 Explain : 20
(1) Monopoly and production of 2 different commodities.
(2) Homogeneous production function and Cob-Daglass
function.
OR
2 (@ If production function Z = 20 — 1/x — 1/y and price 10
of x, y and z are Rs. 4, 9 and 16, find Max. Profit.

(b) Demand function of a monopolist x = 75 — 3p and 5
cost function C = x%30 + 3x + 50, find max profit.
(© Z = x?y + xy? very Euler’s theorem and prove it. 5
3 Explain :
(1) Utility Function. 8
(2) Marginal Utility function. 7
OR

3 (@ Find Max. Utility for the value of x and y. If utility 10
function U = 10x + 24y — x? — 3y? and Budget equation

3x +y = 19.
() Find Minimum cost, if total cost function of a 5
- 3x 24
commodity C = 5+ —+—.
2 X
4 (a) State assumptions of input output analysis. 8
(b) Explain merits and demerits of input output analysis. 7
OR
4  For three industries A, B and C, if technology coefficient 15
matrix is :
0.1 03 0.1
0 02 02
0 0 03

and final demands are 20, 0 and 100 units respectively. Find
total production of industry A, B and C.
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